
Questions for: PROBLEM SET #11

Name _______________________________     Section ____________
Use your workbook and graphs to answer the following questions.

1. a. What are the slopes of the two different sections of your       demand curve?

b. Which portion of Round's demand curve is more elastic, the top or the bottom? __________________  Does this make sense? Please explain.


2. Explain why Round's demand curve has a kink in it.

3. a. Look at your market diagram.  When the marginal cost   

      curve is MC-1, what are Round's profit maximizing price and 

      output?


b. Look at Round'S Tot Rev diagram.  When Round set the profit 

        maximizing price and output above, did they maximize 

        revenues?  Explain why or why not.

4. What happens to the profit maximizing price and output when marginal costs change to MC-2?  Compare your answer with number 3a. above.

5.  The kinked-demand model is most appropriate for oligopolistic industries that experience infrequent price changes.  (Economists sometimes refer to this as a “sticky” price model.)  Why might this be the case?  Why might you expect prices to be sticky in a kinked-demand oligopoly?  Explain.








